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Now apply the Geometric  Series Form ula
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Example 3: A series of line segments are drawn inside a right triangle as
follows:

1. An altitude is drawn from the right angle of the triangle.

2. In the new smaller right triangle formed that contains the smallest angle
of the original triangle, another altitude is draw from the right angle of
that triangle.

3. The process continues indefinitely, always moving toward the smallest
angle of the original triangle.

Fincl the sum of the length of all these line segments if the original triangle has
an angle of 55 degrees and the side adjacent to 55 degrees angle has length 20.
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Note the Sum starts with n=1.
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